cLOPAY s IDEAL / HOLMES / BRAND

3720 / C7Xe0 / 240U / 27GA 2” THICK RIBBED MODELS

JAMB CONFIGURATION

3722 / COXee 7/ -- / 20GA 2” THICK FLUSH MODELS

1" DOOR OVERLAP (EACH SIDE) —

SOUTHERN YELLOW <
PINE JAMB (2" X

6° OR LARGER) BY
OTHERS. _\l/‘|'><

;

ONE 5/16” x 1-5/8" LAG

16 GA. GALV. STEEL DOUBLE END STILE

s

|THIS DOOR MEETS THE REQUIREMENTS OF THE|
LARGE MISSILE IMPACT AND CYCLIC TESTING.

THIS DOOR MEETS OR EXCEEDS THE DESIGN LOADS FOR THE ULTIMATE WIND SPEEDS
LISTED BELOW ACCORDING TO THE FLORIDA BUILDING CODE OR THE INTERNATIONAL
BUILDING CODE (BASED ON ASCE7-10) FOR THE FOLLOWING CONDITIONS: 1)
ENCLOSED BUILDING, 2) DOOR HAS 2’ OF WIDTH IN BUILDING'S END ZONE, 3) ANY
ROOF SLOPE, AND 4) TESTING IN ACCORDANCE WITH ANSI/DASMA 108 AND
ANSI/DASMA 115. SITE-SPECIFIC CALCULATIONS BY A QUALIFIED DESIGN
PROFESSIONAL MAY DIFFER.

ULTIMATE WIND
SPEED (MPH) 210 205 190

EXPOSURE LEVEL B C C D D
MEAN ROOF HEIGHT 30 15 30 15 30

185 175

REV| DATE DESCRIPTION

0o[  1/2009 PRE—RELEASE VERSION.

Q1 12/2011 CLARIFIED SECTION A—A; UPDATED WIND SPEEDS.

HORIZONTAL TRACK END HANGER BRACKET
SUPPLIED BY DOOR INSTALLER:

CENTER HANG

SCREW SPACED AT THE SAME
DISTANCES AS THE TRACK
BOLTS (l.E. 3—1/2", 10", AND
EVERY 12", ALSO TWO LAG
SCREWS LOCATED ABOVE
VERTICAL/HORIZONTAL TRACK
JUNCTION.

7/16" PUSHNUT |
INSTALLED ON ROLLER
SHAFT FOR UNRESTRICTED

OPERATION. HINGE (SEE VIEW “B".

14 GA. GALV. STEEL (END> HINGE (SEE VIEW ‘A",

2’ LONG STEM ROLLERS WITH STEEL OR NYLON TIRE.
OPTIONAL 3“ ROLLERS WITH 3“ TRACK AVAILABLE

SECTION A—A (SIDE VIEW)

14 GA. GALV. STEEL INTERMEDIATE

2”7 THICK

—

(1) 3" x 20 GA. STEEL U—BARS PER SECTION. LOCATED

REQUIRED ON DOORS
OVER 8’ HIGH

/\

V V /\\/ GALV. STEEL TRACK SECTIONS,
\ /HEIRIZEINTAL - 14 GA MIN,

TRACK CONFIGURATION ABOVE THE
DOOR OPENING DOES NOT AFFECT
THE WIND LOAD RATING.

I SECTION B-B
~~DETAL D’
L ” NUMBER OF AjF===%é
- 14” MAXIMUM SPACING DOOR HEIGHT ‘A’ L
FROM LAST MOUNTING SECTIONS <
uf ‘-0 MULTIPURPOSE
an SLOT TO TRACK JUNCTION - 8TH[|]?U [0 0" g DETAL ,D,//_\\ MULTIPURPOSE —
1 GALVANIZED STEEL TRACK 10’ =3 THRU 12’ -0” 6 OPTIONAL DECORATIVE OPTIONAL DECORATIVE
DHPEEIELNTG - SECTIONS VERTICAL - 0.083 MIN 12/ =3 THRU 14’ -0” 7 SNAP—IN INSERT. FRONT FRAME FACADE.
14’ -3” THRU 16’ -0” 8 L e
H VERTICAL TRACK CAN BE EITHER 16’ -3” THRU 18’ -0” 9
BRACKET MOUNT, CONTINUOUS MAX. SECTION HEIGHT = 247 o166 }

ANGLE OR REVERSE ANGLE
TRACK. ALL TRACK BRACKETS
AND TRACK CLIPS ARE 12 GA.
GALV. STEEL. BRACKETS AND
CLIPS ARE ATTACHED TO TRACK

.

OPTIONAL: ONE ROW OF IMPACT—RESISTANT

GLAZING IN EITHER TOP SECTION (SHOWN)
OR INTERMEDIATE SECTION (NOT SHOWN).
MAX. GLAZING SIZE IS 18-1/2" x 11"

GLAZING IS INJECTION MOLDED GE LEXAN

SLX2432T, AN APPROVED CC2 PLASTIC IN
ACCORDANCE WITH IBC/FBC 2606.

SEE SECTION B—B FOR ASSEMBLY DETAILS.

(1) 20 GA. GALV. STEEL BACKER PLATE AT

+ TYPICAL A
1" IR_CTR WITH TWO 1/4” RIVETS.
A
L3 12
AVAILABLE IN 3” TAPERED ANGLE TRACK (<¢0.101” TRACK AND

EACH INTERMEDIATE HINGE LOCATION.

BACKER PLATE ATTACHED WITH DOUBLE SIDED

0.101” X 3-1/4" X 2-3/4” ANGLE>. TRACK BOLT AND LAG SCREW

ACRYLIC ADHESIVE TO BACK OF DOOR.

SECTIONS ARE 2” THICK (MIN.) PANELS.

EXTERIOR 27 GA. MIN. GALV. STEEL.

INTERIOR 27 GA. MIN. GALV. STEEL.

THE STUCCO EMBOSSED STEEL TEXTURE IS PREPAINTED WITH A
BAKED POLYESTER PAINT. OPTIONAL MINOR RIBS ARE PLACED
EVERY 4 INCHES ALONG THE WIDTH OF THE EXTERIOR PANELS.
URETHANE FOAM CORE INSULATION DENSITY 2.4 PCF.

-

IMPACT RESISTANT STRUCTURAL SILICONE SEALANT.

ONE—PIECE INJECTION
MOLDED GE LEXAN
SLX2432T FRONT
FRAME & GLAZING.

POLYSTYRENE RETAINER
FASTENED TO FRAME WITH
(10) #8 x 3/4” PAN HEAD
MACHINE SCREWS.

16 GA. DOUBLE END STILE

SPACING 3-1/27, 10 AND EVERY 12” AS NOTED ABOVE.

i

3" 20 GAGE U-BARS. SEE SECTION A-A FOR

7 Va —l Yy i MOUNTING DETAILS AND SPECIFICATIONS.
5 1 T | | ° 1
. | 7] 7 [ 44
o
#14x5/8” SHEET METAL SCREWS 2 ¢ 5 T A N—
- / _ £ E'% : ' : ———VIEW "C"
O (3) 8 A A | — C-CHANNEL. SEE SECTION A-A FOR
5 .‘ A z MOUNTING DETAILS AND SPECIFICATIONS.
» — — ”» ”» - "
G = | = RV T LA = B N — - I s T e ™
v v TAPPING SCREWS. £ "
0 o
R 2—3/4" 2-3/4" | — (2) LHR TOP BRACKETS USED
VIEW “B / / VIEW “C* ,

14 GA. DOUBLE END HINGES

ATTACH ON EACH HINGE AS SHOWN:
(4) #14x5/8" LG. SHT. MTL. SCREWS AND

14 GA. INTERMEDIATE HINGE
ATTACH ON EACH HINGE AS SHOWN:

(2) 1/4"x3/4" SELF—TAPPING SCREWS. (4) 1/47x5/8"SHEET METAL SCREWS

T EE=

e A

MAX DOOR WIDTH =

@ AS INNER BOTTOM BRACKET.
|
1

AT THE TOP OF EACH SECTION. ATTACHED WITH (2)
1/47x3/4" SELF-TAPPING SCREWS PER HINGE LOCATION
(SEE VEW "E™).

VIEW "E”

3" TALL 50 KSI U—BAR
20 GA. GALV. STEEL

ImiEde

1-7/8"

12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH BRACKET
ATTACHED W/(5) #14x5/8" SHEET METAL SCREWS.
ADJUSTABLE SLIDE ATTACHED TO TOP BRACKET WITH (2)
1/4°x1/2” BOLTS AND NUTS PER BRACKET.

1-1/4" WIDE x 16 GA. GALV. STRAP. (1) PER INTERM.
HINGE LOCATION AND (2) PER DOUBLE END STILE. (SEE
INSIDE ELEVATION). EACH STRAP ATTACHED WITH (3)
1/4"x3/4" SELF TAPPING SCREWS (TWO SCREWS TO DOOR,
ONE SCREW TO C—CHANNEL).

SEE VIEW "E".

TONGUE AND GROOVE JOINTS.

14 GA. GALV. ROLLER HINGE. EACH HINGE FASTENED
TO END STILES W/(4) #14x5/8" SHEET METAL AND
(2) 1/4"x3/4" SELF TAPPING SCREWS. (SEE VIEW "B")

ONE 6" TALL, 16 GA. C—CHANNEL PER DOOR SECTION. EACH
ATTACHED WITH (1) 1/4"x3/4” SELF TAPPING SCREW PER
END STILE AND BACKER PLATE LOCATION (SEE VIEW "D").

nem

6" TALL 50 KSI C—CHANNEL
16 GA. GALV. STEEL

2-1/2"

5/8" (TYP.)

27 GA. (.016” MIN.) EXTERIOR STEEL SKIN WITH G-40 MIN.
GALV., BAKED—ON POLYESTER PAINTED TOP COAT APPLIED
TO BOTH SIDES OF STEEL SKIN.

12 GA. GALV. STEEL BOTTOM BRACKET.
ATTACHED WITH (4) #14x5/8" SHEET METAL SCREWS.

INSIDE_ELEVATIONS END SO BOAGES ALUMINUM EXTRUSION & VINYL WEATHERSTRIP.
2x6 JAMB (OR |ARGER) TO SUPPORTING STRUCTURE ATTACHMENT 6" CHANNEL STILE INTO VERTIG.
FASTENER NOTE: FOR DOORS WITH BRACKET MOUNT TRACK, TRACK MUST BE MOUNTED TO WOOD AT THE CENTER OF EACH EAcH S DESIGN ENGINEER:
JAMBS. FOR DOORS WITH CONTINUOUS ANGLE MOUNT TRACK, TRACK MAY BE MOUNTED TO TR et AN EEL PLATE C o | BoLT SCOTT HAMILTON
WOOD JAMB OR DIRECTLY TO WALL USING THE FASTENERS PRESCRIBED IN THE TABLE BELOW. WASHERS 10 THE UNDERSIDE OF THE THE LOCK OPTION FLORIDA P.E. #63286
MAXIMUM  |RQD WITH C—CHANNEL WITH (4) 1/4"x3/4" VIEW "E”
ON—CENTER | WOOD SELF TAPPING SCREWS.
BUILDING TYPE FASTENER TYPE SPACING | JAMBS? DESIGN LOADS: +50.0 P.S.F. & —56.0 P.S.F.
C—90 BLOCK (HOLLOW OR » N B » » ” TEST LOADS: +75.0 P.S.F. & —84.0 P.S.F.
GROUTED) 1/4” x 3" (1-1/4" EMBED) TAPCON CONCRETE ANCHOR (2-1/2" MIN. EDGE DISTANCE) 4-1/2 oo CLOPAY BUILDING PRODUCTS COMPANY MANUFACTURING PRODUCT CODE:f CLOPAY WINDLOAD RATING | MAX DOOR SIZE:
3,000 PSI_ MIN. CONCRETE |1/4" x 4" (1-3/4" EMBED) TAPCON CONCRETE ANCHOR (2—1/2" MIN. EDGE DISTANCE) 2-1/2"_[1"_0.D. - C—=DSIU=1F47/1 16'2"W 1870"H
3,000 PSI_MIN. CONCRETE [1/2" x 4 ((2—1 //4" EMBED)) WEDGE ANCH(OR (27 MIN. EDGE DI?T?NCE) . 2-1/2" INGLUDED - opay aigg NDUC')<|5 5'5-\620 W 5 /16,08 ___W X
WOOD FRAME 1/2" x_4” (1-5/8” EMBED) LAG_SCREW (ASTM A307, GRADE A) (2—1/2” MIN. EDGE DISTANCE 4—1/2" [1" 0.D. ) ]
2,000 PSI MIN. CONCRETE [1/2" x 4" (2—1/2" EMBED) SLEEVE ANCHOR (2—1/2" MIN. EDGE DISTANCE)_ 74" |INCLUDED (513) 770-4800 COMMERCIAL URETHANE INSULATED GARAGE DOOR

ANCHOR NOTE: FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM

ON—CENTER DISTANCE. HIGHEST ANCHOR INSTALLED AT LEAST AS HIGH AS THE DOOR OPEN

ING.

Building Products

DRAWN BY: BFA

+50.0/-56.0 PSF DESIGN LOAD

DRAWING NUMBER: VER

Clopay Corporation All Rights Reserved.

Company

CHECKED BY:

SH

B

104112

IBC




